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3 Complete the sentences with his or her. /3
2 Thisis hat. @\

3 Thisis coat. \( 4 These are

1 These are her shoes.

4 Order the words.

1 ‘these Are ' his 'shoes? Are these his shoes?

2 they Yes, are.

3 her Are socks? these
4 this Is hat? her

5 aren’t. No, they

6 coat? Is this his
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5 Circle the correct first letter.
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1 Look at the picture. Circle A, B, or C.
Example  (A) It’s a frisbee.

(B) It’satree.

@ It's a seesaw.

1 (A) It'sapool.
(B) It'sanicecream.
(C) It'sagoal.

2 Whatis in the park?
(A) Aslide
(B) Two seesaws
(C) Two boys

3 Where’s the ball?
(A) It'sinthe goal.
(B) It’sinthe tree.

(C) It'sontheslide.

4 Where’s the bike?
(A) The tree is under the bike.
(B) The bike is under the tree.

(C) The bike is on the tree.
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2 Look and write.

1 The frisbeeis on the seesaw.

2 The ballis the goal.

3 Thebagis the tree.

4 Thecatis the slide.
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1 Look at the picture. Circle A, B, or C.
Example  (A) It’s a frisbee.

(B) It’satree.

@ It's a seesaw.

1 (A) It'sapool.
(B) It'sanicecream.
(C) It'sagoal.

2 Whatis in the park?
(A) Aslide
(B) Two seesaws
(C) Two boys

3 Where’s the ball?
(A) It'sinthe goal.
(B) It’sinthe tree.

(C) It'sontheslide.

4 Where’s the bike?
(A) The tree is under the bike.
(B) The bike is under the tree.

(C) The bike is on the tree.
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2 Look and write.

1 The frisbeeis on the seesaw.

2 The ballis the goal.

3 Thebagis the tree.

4 Thecatis the slide.
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3 Complete the sentences with his or her. /3
2 Thisis hat. @\

3 Thisis coat. \( 4 These are

1 These are her shoes.

4 Order the words.

1 ‘these Are ' his 'shoes? Are these his shoes?

2 they Yes, are.

3 her Are socks? these
4 this Is hat? her

5 aren’t. No, they

6 coat? Is this his
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5 Circle the correct first letter.





